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https://www.100test.com/kao_ti2020/542/2021 2022 E8 80 83 E
7_AO0 94 E7 BB 8F E5 ¢73 542976.htm Write an essay of
160-200 words based on the following drawing. In your essay, you
should: 1) describe the drawing briefly, 2) explain its intended
meaning, and then 3) Suggest counter-measures. [1 [1 [1 People
have the illusion that they can do anything with money. Just as what
IS shown in the picture, by paying a penalty, people can give birth to
more children, factories can let out the polluted air directly without
any treatment, and trees can be felled at will. This is a very serious
social problem. Compared with other countries, China has a larger
population but more limited resources. If everybody behaves in the
similar way, it would be far beyond the country’ s capacity to
guarantee everyone a well-off life. Moreover, it was reported that to
bring up one child costs 350,000 yuan, which means that a family
with several children bears a heavy burden. Meanwhile, if factories
do not take any measure to treat the polluted air, the atmosphere will
be further contaminated. Also, the felling of trees will surely lead to
soil erosion, while frequently occurring sand storms are humans’
deserved punishment for deforestation. Though taxtation is one of
the methods to punish this sort of behavior, it is never the only way.
Solving these problems reflected in the picture depends largely on
our responsibility to society and environment. If the sense of
responsibility is greatly aroused, harmony between man and the
environmentwillnotbefaraway. U O 0 DO OO O0O0OO0OOO
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illusion: n. O O penalty: n. O O give birthto: O O 0O O O fell: v.
[J O be far beyond: OO O capacity: n. LI O well-off:adj. O O O [
[0 00O bearaburden: O O O O atmosphere: n. [ [ [
contaminate; v. L O O O O O O Just as what is shown in the
picturel] This is a very serious social problem. Compared with other
countries, ChinalJ Solving these problems reflected in the picture
depends largely on our responsibility to society and environment. If
the sense of responsibility is greatly aroused, harmony between man
and the environment willnotbe faraway. J OO0 OO0 OO0 OO
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